SRR ER

N >
XA
N O ]
5B K - M4 -15 -1
3 E| A ¢ KS - M4 - 15 - X
Fi ool
iR FRER By EY REAE
o 1A RHE B KB xa
BR 2
EE?!] i T A
E‘, % FERY.: =%
2= BT
i S m*ﬁ' A : - 5
5 5 B guits | mam | oy |ETERE ) BARE L L e | s
%<0 R -0.05 - : : . .
1.0 1.0 1.0
1.2 12 1.2
M3x0.5 K ZKS M3 5.0 4.98 7.00 3.0
1.5 15 1.5
2.0 2.0 2.0
1.2 12 1.2
M4x0.7 7K ZKS M4 1.5 15 1.5 6.0 5.98 8.00 4.0
2.0 2.0 2.0
115 15 1.5
M5x0.8 7K ZKS M5 2.0 2.0 2.0 8.0 7.98 10.00 5.0
25 2.5 2.5
1t 15 1.5
M6x1.0 2K ZKS M6 2.0 2.0 2.0 9.0 8.98 11.00 6.0
25 2.5 2.5
2.0 2.0 2.0
M8x1.25 K ZKS M8 1.0 10.98 13.00 6.0
25 25 2.5
% ARB - M4 - 008 - S - Z
C i [ |
W RE ME EEL
B B AE msm
FERT. =k  ARB E IS Anchor® Rivet Bush #1155 LL'
" wALER C £ T
nl E I~
et i RN +0.08/-0.0 +0/-0.13 +/-0.15 +/-0.13
M2.5x0.45 ARB—M2.5—XX—5Z ARB—M2.5—XX—53 5.85 5.80 7.90 3.20
M3x0.5 ARB—M3—XX—SZ ARB—M3—XX—SS 5.85 5.80 7.90 3.20
M3.5%0.6 ARB—M3.5—XX—5Z ARB—M3,5—XX—SS 6.95 6.90 9.50 3.80
M4x0.7 ARB—M4—XX—52 ARB—M4—XX—SS 6.95 6.90 9.50 3.80
M5x0.8 ARB—M5—XX—SZ ARB—M5—XX—SS 8.35 8.30 .10 4.40
Méx1.0 ARB—M6—XX—SZ ARB—M6—XX—SS 9.65 9.50 12.70 5.70
M8x1.25 ARB—M8—XX—SZ ARB—M8—XX—SS 13.10 13.00 15.90 6.40
MI0x1.5 ARB—MI0—XX—SZ ARB—MI0—XX—SS 15.50 15.40 19.10 7.60
MI2x1.75 ARB—MI2—XX-52 ARB—M12—XX—S5 19.50 19.40 25.40 10.20
001 003 004 006 008 010 or
0.5-0.6 0.7-0.8 0.9-1.0 1.1-1.3 1.4-1.6 1.7-1.9 2.0-2.2
013 014 016 018 019 020 022
2.3-2.5 2.6-2.8 2.9-3.1 3.2-3.4 3.5-3.7 3.86-4.0 41-43
.
.sz-daking.
20 www.sz-daking.com @gsg”kjgrsw




